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FFs 4 P Rk S BRI BRI ER ERZEH (o)
1 R S B IR Pk Jh A4 % 180
2 HH B 22 5 R Pt My —% 90
3 AN S R Pt Jh A —% 190
4 o't 5 ABL R Pyt Jie A% V4 2% 90
5 2R £ LI Pt Jh A % 180
6 A Y B IR Pk i fif —% 90
7 B4 5 R Pyt Jie A —% 100
8 Wi 7 R Pt K —% 90
9 ¥ E Mg S B IR Prijt JE A — 4% 90
10 H £ LI Pt e pp —% 180
11 IR Y B IR Pk Jh A — 4 90
12 FUH by R Pt Jh A —% 180
13 IZEZON 5 R Pt Jh A —% 180
14 k=Rt % B IR PEit £ % 180
15 L £ LI Pt Jh A % 180
16 ¥ 18] Y B IR Pk Jh A % 180
17 LR S R Pt Wy /) =% 90
18 SEEES % R Pt Jie A =% 90
19 S 5 L PEyt JEi A % 180
20 J) 4 5 LI Pt e pp —% 90
21 S S B IR Pk Jh A — 4 90
22 30 5 R Pt Jh A — % 190
23 = ) R Pt Jh A =% 90
24 H % ABL R Pyt Jie A% =% 90
25 AR 5 {ELJ Pt e pp —% 180
26 XI5 1 Y {EL R Pk i fif —% 180
27 H =1 5 R Pyt i A —% 90
28 B/ — ES R Pt W 7 —% 180
29 J) R S ABL IR Pyt ZEH —% 180
30 L £ {ELJ Pt ZEH — 4 180
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31 W= 5 {EL R Pt Jii —% 180
32 R 7 R Pt Jii % 180
33 AIEEE 7 1R Pt K A R 90
34 H [ [ 5 L PYrigt Jii i 9 180
35 LEZPN 5 LR Pt ik —%% 180
36 B H 1 7 {EL R it EA: —% 180
37 ik 7 1R Prift Jii % 90
38 FH i 5 L% it Jii A =% 90
39 B 7 L Pk W 77 —% 100
40 AT 5 PRt Pt W 7 —%% 180
41 LK 7 {EL R Pt Jii i —% 180
42 ME= Z R PEyt Ji A =% 90
43 TFEHE 5 L% it Ji Ak =% 90
44 JIIEE 5 L PYrigt Jii i — 180
45 =R 5 LR Pt Jii —%% 180
46 ol 7 iR Pyt My —% 190
47 AT Z R YEt ZH —% 190
48 BN 5 1R Pt EA R 90
49 B % L YEt iRk =% 90
50 WA ) ES R Pt M7 —%% 180
51 HNH 7 {EL R Pt M7 —% 180
52 2R A 7 R Prift Jii % 180
53 2% L L% it Ji Ak — 180
54 I 5 L Pk M 9 180
55 2 H ¥ 7 iR Pyt SiE —% 190
56 B 5 R YEt ZH —% 190
57 £ 5 R Pt Jii R 180
58 JIKH 7 PRI Pyt Al —% 190
59 K 7 R Prigt Jii — 180
60 AR 5 LR Pt ik —%% 180
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61 &E2 S B IR Pk Jie A % 180
62 JJHH ES R Pyt ZH —% 180
63 i 5 R Pt K —% 90
64 =30 % B IR PEit i —% 180
65 U] £ LI Pt Jie A % 180
66 JJ WA Y B IR Pk Jie A % 180
67 B S R Pt Jh A — % 190
68 ¥tk 7 R Pt K —% 180
69 JIW A S B IR Pk JE A —% 180
70 42T £ {ELJ Pt E2 —% 190
71 T ek 5% R B Jie A —% 190
72 T EK 5 R Pt e pp —% 180
73 JIE 7 R Pyt Jie A =74 90
74 J )i S B IR PEit Wy ) =% 90
75 SIER 5 {ELJ Pt W ) =% 90
76 H A 5 R B Jie A =% 90
77 JAEARR 5 R Pyt Jie A =% 90
78 BT S R Pt K —% 180
79 BN % B IR PEit W 7 —% 90
80 H A £ LI Pt e pp —% 180
81 % 5% ABL IR B Jie A =% 90
82 ESbE S R Pt £ =% 90
83 PE % R Pyt Jie A =74 90
84 PAEAR:S % ABL R Pyt Jie A% =% 90
85 Badk B 5 R B Jie A =% 90
86 EBEE 5% B IR Pk =¥ —% 180
87 /M S R Pt i pp —% 90
88 M=% ) R Pt K —% 90
89 T e % B IR PEit i —% 90
90 JI=# 5 {ELJ Pt Jie A % 180
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91 T 7 {EL R Pt Jii —% 90
92 e 5 R Pt Fi =% 180
93 F4 % L% YEt Ll =% 90
94 Wk A 5 L Pk iRk 9 90
95 Al 5 iR Pyt W 7 —%% 180
96 /R 5 {EL R Pt i —% 190
97 FH 5 5 1R Pyt W 7 =% 180
98 T2z 7 L% it Jii A =% 90
99 M J2 4= Cs L PEit Jii — 90
100 H R4 5 LI YRt = =% 90
101 Ji B % DU YEt RS =% 90
102 i I IR 7 R Prift Jii =% 180
103 T % L% B ZH —% 90
104 FH I L L PEyt Ji A =% 90
105 R 7 iR Pt Jii =% 90
106 X 5 R YEt Al —% 180
107 JAEARN 5 R PEyt Ji A =% 90
108 [ZEAN 5B R it Ji A =% 90
109 TAMlk L L YEt Ll % 180
110 RN 5 R Pyt A} =% 180
111 T 5 PRI Pyt W 7 —% 190
112 & 5 R B Ji A % 180
113 JI D% % L% it Jii —% 180
114 JIEE L L PEyt ZH —%% 180
115 ¥ Je g 5 LR Pyt Jii —%% 180
116 = 5 {EL R Pt Al —% 180
117 W7k bk 5 R Pt ) R 180
118 HH 3 % 5 L% Pt Jii R 180
119 FH i i 5 L YEt Ll —% 190
120 AN K 7 iR Pyt W 7 —% 100
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121 e 5 {EL R Pyt Jii —% 180
122 F=E 5 R B Ji A % 180
123 X fif e 5 1R Prift Jii —% 90
124 2R AE % L PEyt Ji A —%% 180
125 JIJe 5 iR Pyt A} —% 190
126 javep N 5 {EL R Pyt Al —% 190
127 H 418 5 R Pyt (A} =% 90
128 XL % L% PEyt Jii A =% 90
129 J) G 7 L Prigt Jii =% 180
130 Mtk 7 iR Pyt Fil =% 90
131 YEELE L R YEt = — % 90
132 B2 Z R YEt Ll % 180
133 YEE% L L% PEt Ji Ak — % 180
134 YEE % % L PEyt Ji A % 90
135 NK 7 LR Pyt Fil =% 180
136 17AEEAR 5B {EL R it ZH —% 90
137 £ 5 R Pyt W 7 =% 180
138 YEZI T L 1R Prigt Jii —% 180
139 AR % L PEyt Ji Ak % 180
140 ¥4 ES iR Pyt W 7 =% 90
141 T/ 5 R YEt RS — % 90
142 J17K B 5 R Pt Jii % 180
143 2 L L% YEt Ll — % 90
144 FH 22 Jif 7 ABL R Pyt W 7 —%% 90
145 2= 0B 5 LI YRt Jii VY% 90
146 255 5 R YEt RS Ut 90
147 S 5 R Pyt it =% 180
148 B 5 1R Pyt M R 90
149 jetql] % L PEyt Ji Ak =% 90
150 PrEE 7 LR Pyt Jii —%% 90
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151 T 5 ABL R B Jie A —% 90
152 Tl 5 R Pyt Jie A =% 90
153 2= ) R Pt K —% 90
154 3 & B 5 ABL R Pyt ZEH —% 90
155 Y4 5 {ELJ Pt W 77 —% 90
156 T 55 5 ABL IR Pyt ZEH —% 180
157 £ S R P 7 —% 180
158 THE % R Pt Jh A —% 90
159 YEAN R S B IR PEit W 7 —% 90
160 = 5 ABL IR B Bl — % 190
161 ESiRAR 5 R B Jie A —% 90
162 TE= 5 R Pyt Jie A —% 180
163 AN S R Pt Jh A —% 180
164 2> % ABL R P My —% 90
165 X R AL 5 ABL IR Pt Jie A % 90
166 LR ES B IR Pk Jie A —% 90
167 B 5 R Pyt Jie A —% 180
168 JI/h= S R Pt W 7 —% 180
169 = % ABL IR Pyt Jie A —% 180
170 ALK 5 R B Jie A —% 90
171 KR ES ABL IR B =¥ —% 180
172 B 5 R Pyt ZH —% 180
173 AR 5 R Pyt Jie A —% 180
174 VARV % ABL R Pyt Jie A% = 90
175 H R £ {ELJ Pt Jie A —% 180
176 ¥ H % ES B IR Pk Jie A —% 90
177 JIE 4] 5 R Pyt i A =% 90
178 J13 A % R Pyt Jie A =74 90
179 EER S ABL IR P 2 =74 90
180 AR 5 R B =¥ =% 90
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181 22N 5 R YEt RS -t 90
182 2 5 R YEt = =% 90
183 ARRES 7 R Pt Jii R 90
184 B I S L it FiE —% 100
185 Ji 255 7 iR Pyt it =% 180
186 22750 7 iR Pyt i =% 90
187 Ji 2 7 R Pyt Fi =% 90
188 e 7 1R Prift Jii =% 90
189 ¥ At 7 L Pk iRk — 180
190 TI=4% 5 LI YRt Jii A =% 90
191 B L R YEt = — % 180
192 EARss 5 R PEyt Ji A =% 90
193 5| % L% PEt Ji Ak — % 180
194 X B 5 L PYrigt Jii i 9 180
195 A 7 LR Pyt Jii —%% 180
196 EpLS 5 R B Bl % 180
197 S 5 1R Pyt Al —% 190
198 HUKBE L R PEyt Ji A —% 190
199 21 7 L Pyt W 7 =% 90
200 AN ES iR Pyt Jii A =% 180
201 1 H 7 {EL R Pt Jii i —% 180
202 K 7 R Prift Jii % 180
203 T L L% W2 i fif — % 180
204 T 5 L W2 £ —%% 180
205 ek 5 R W2 Jii =% 90
206 ML H 5 {EL R W2 E — 2 190
207 FH RK B 7 R Y2 Ji A =% 90
208 TAH % L% W2 ZH —% 180
209 FrrE Cs L 2 K& i =% 180
210 B T 5 LR W2 W 7 —%% 180
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211 CEES 5 {EL R W2 i % 180
212 Bt B ES R W2 ZH — % 190
213 HTEFE 7 1R W2 M =% 90
214 ESE AN 7 L 2 7 W53 90
215 MRz 5 7 LR W2 Fil =% 180
216 EEEiRN 5 R W2 RS —% 180
217 A4 R 7 R Yz (A} =% 90
218 Ve U& 5 1R W2 E R 180
219 A % L W2 W 7 % 180
220 HE T 5 R W2 Jii A =% 90
221 AR 5 iR &2 RS VY2 90
222 2= & 5 R Y2 Jii V4 2% 90
223 T % L% W2 ZH —% 100
224 MR EARL 7 L 2 M —% 190
225 EES 7 LR W2 Jii —%% 180
226 Mg 5% {EL R W2 W 7] —% 180
227 i35 5 R Yz it =% 180
228 HH RRASRL L R W2 Ji A =% 90
229 B R S L W&z Ll —% 190
230 R4 L LI s ZH —% 190
231 T AH ES {EL R W2 Bl —% 180
232 25 1H- 1 5 PRI Y2 it =% 180
233 Wk 5 1R W2 i fif R 180
234 EE=R44 5 L W2 ZH — 190
235 W Je 5 iR W2 Fil =% 90
236 M7k 4E 5 {EL R W2 Jii —% 180
237 X H 5 R W2 Ji A —% 100
238 B BH 5 1R W2 W 7 R 90
239 Ak FH Cs L 2 7 — 90
240 A 5 LR W2 W 7 —%% 180
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241 J& Je sl Y B IR W2 W 77 —% 180
242 JE S R hEz £ % 180
243 T % R s Jie A —% 180
244 R % B IR nEz i % 180
245 B KA £ {ELJ W2 Jie A V425 90
246 [ 5 ABL IR Y s ik DYk 90
247 i by R W2 Jh A % 180
248 G S R W2 Jh A % 180
249 i % ABL IR Y2 Jie A —% 180
250 A= £ {ELJ W2 M =% 90
251 A5 Y B IR W2 Ko i =% 90
252 HH 22 i) ES R Y2 Jie A —% 180
253 L ES R s Jh A =% 90
254 HH = A[] % ABL R Y2 Jie A% = 90
255 SLIED £ LI "z Jh A V425 90
256 Mrod it Y B IR W2 Jie A V4 2% 90
257 PRIEAL by R < Wy /) % 180
258 H A 5 R wEs Jh A — 4% 180
259 SRS % B IR nEz Wy ) =% 90
260 [ RIERE] £ {ELJ W2 Jie A V425 90
261 Rl S B IR < Jh A U425 90
262 Mo AN 5 R Y2 Jie A —% 190
263 Bz iz 5 R s Jh A —% 190
264 MR=A# % B IR s JE A —% 190
265 B4R 5 {ELJR "z M —% 180
266 AL iG] ES B IR W2 Jh A % 180
267 5% 5 R Y s i A —% 180
268 AL ) R 2 K % 180
269 A2 7 S ABL IR Y2 ZEH =74 90
270 H R 5 R s Jie A =% 90
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271 T AR 5 ABL R Y s ZH —% 180
272 PRz vy ES R Y2 ZH —% 180
273 T =R)T % R s Jie A =74 90
274 RIEVL 5 ABL R 2 2 —% 190
275 TN £ {ELJ W2 Jie A —% 180
276 PR S A £ B IR W2 M7 —% 190
277 LRI by R W2 (A} — % 190
278 RES ) R 2 K % 180
279 ENIES % ABL IR Y2 i —% 180
280 SR 7 R s =¥ —% 180
281 PREL R 5 ABL IR Y s =¥ —% 180
282 X 5 R Y2 Jie A —% 180
283 FIRAL 7 R W2 Jh A —% 180
284 AR % ABL R Y2 ZEH —% 190
285 LRI £ LI "z Jh A % 180
286 T e 5 B IR W2 M7 U425 90
287 T WK 7 R W2 (A} ILE73 90
288 PRIAL L R s My — % 190
289 RAKED S ABL IR 2 W 7 V425 90
290 S5 5 ABL IR W2 Fil 4% 90
291 T 5 ABL IR Y s Jie A —% 90
292 LRpn% 5 R Y2 Jie A =% 90
293 T2h L R W2 ZEH —% 180
294 PRI S B IR 2 JE A % 180
295 H 7K % 5 R W 2 ZEH —% 180
296 EEVACiA 5 ABL IR W2 i —% 180
297 TRIER S S R 2 Fi V4 2% 90
298 RJEAE % R L2 ZEH —% 190
299 fifl i F S ABL IR Y2 ZEH —% 190
300 PRACAH £ LI s E2 —% 190
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301 (AR 5B {EL R W2 Al % 180
302 F 5 R W2 Ji A % 90
303 TR L L% W2 ZH —% 180
304 RN 7 L 2 W 7 9 180
305 RFEL 7 LR W2 Jii —%% 180
306 i 5 {EL R W2 ki % 180
307 T 5 R W2 = U 90
308 LB % L% W2 Al Ut 90
309 =1 Cs L 2 Jii V4 2% 90
310 PR 2% 5 LI W2 = VY% 90
311 XI5 5 R W2 RS — % 180
312 EERCE 5 R Y2 it =% 180
313 EE=NE % L% W2 Ji Ak =% 90
314 2 © L W2 W 7 Ut 90
315 FHE4 5 R W2 Fil —% 180
316 2 TR 5 {EL R W2 ki % 180
317 Pz 7 R Y s it Y2k 90
318 AR B 5 1R W2 i fif —% 180
319 i T2 HH 5w L W&z W 7 =% 90
320 PR 5 iR &2 E —%% 180
321 XI] Je $H 5B {EL R &2 My =% 90
322 fifl ER 5 R W2 EZ =% 90
323 EE= L L% W2 W 7 — % 180
324 [E=Es] % L W2 = =% 90
325 R4Ah 5 LR W2 A} V4 2% 90
326 RIEAE 5 {EL R W2 ki AYE%7 90
327 B JE TR 5 R W2 Ji A =% 90
328 et 5 L% W2 Jii A — % 90
329 RS Cs L 2 Jii — 180
330 MR 5 LR W2 W 7 —%% 180
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331 B3 5 owi:3 2 iR % 180
332 K 4eH & R 2 Z % 180
333 HA K 5 R &2 iR % 90
334 F KNI % R &2 itk % 180
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